4.2 AT BALHIR R

KW N WTHEE TR

WIH AFK: #HTEL TR

WiHE: 7]-2223486
(1) BEVIEERIL RS

L,
A

PIFERRIA AR BRI R SRR S SN T ARG H

5 Ey i - T i JE VRS g A (76D B2 (76)
H
—., HHTERARS (FRiERS)
eyl 2001,
I A WL
s SEAMET
0.5MPa.fiEEA
#ME | T 100pa; LAER
1 HaEFET 1 = 7 _ P ‘ EPiPa 125,000.00 125,000.00
b &% H~305C;
FdF P
e, {RiFEx
kR, A AR
B,
A TH
2 RRMR 1 & LA Tl Bt T HR 56,000.00 56,000.00
pI[I A% &1
N Tz Bl B
S SR /% " \
3 1 f ) 1REY: Kik 18,500.00 18,500.00
S K
E
el N H 27 s WY e
4 o 1 & /j‘ i&ﬁ% oA 3,500.00 3,500.00
SR i a7
- v
e I 4
5 1 & /j‘ 5 :aw 35,000.00 35,000.00
eIk iH {
[l
e A HE 7N é,. =
6 1 & O g 18,000.00 18,000.00
RS 5 a i é? \& i
Tt N HE
7 1 & ) 7l 18,000.00 18,000.00
Mg i
MR
8 PET ¥}t 1 & - V=0.1m3 M 12,000.00 12,000.00
BT H
9 ol 1 & Q=5kg/h 85,000.00 85,000.00
AU TbeS IR Q=5kg/h; .
10 1 & H 32,000.00 32,000.00
£ i P=5MPa
o BRIERRER RS 2R 5L




. b1 , N . . .
g ZFR - =<K 2 ml T 5 fia: i} <R O S ()
5B
HREE A I N
1 ) 1 & LR M 150,000.00 150,000.00
2 5% bl
M
2 Hikls 1 & . #ni%RE7T: Bkg/h 7 85,000.00 85,000.00
plis
WAL
JEREIIESN 1 =
2 F Jee g
A 5 o | . B R
B - EXdIIBT4
=, ks RS
R KRR Q=5kg/h; .
1 1 & N 32,000.00 32, 000, 00
HiEE 2 P=10MPa
AL
b 2% 1 &
25 FH B
577 44 | . By RS 2
Bl - EXdIIBT4
2 P e b 1 & 85,000.00 85, 000. 00
PO, Bt 22
Hi = e
SiBIE | Skgh, THIML,
1 VIEEiIN 1 & o ; ¢ ” = 34,000.00 34,000.00
T4 1 &
BRI 1 &
0 .
2 7lag RN 1 & : 12,000.00 12,000.00
iB
200kg, FhkEsEgy
3 B FF 1 = g 8,500.00 8,500.00
EXdIIBT4
. FHUh RS
TN TR ‘
1 ‘ 1 & P=25Kw AR 65,000.00 65,000.00
Py 81
S4h i EZRME:)
2 1 & V=0.3m3 7 8,500.00 8,500.00
il b}
TG i [E .
3 - 1 & ) Q=1 m3h;H=35m KiE 18,500.00 18,500.00
7% K
Ny BTERY




. b1 , .
5 ZFR - =<K 2 ml T 5 fia: i} =<8 TV S o)
5B
BEH PN E X
1 1 & ) SR M 45,000.00 45.,000.00
o bl
I =, wREN
= 7191 ek
2 M EIL ] 1 & - #, Vv=1me, dn# | En 32,000.00 32,000.00
1H ~
.ﬁ'fﬁ: #LJJ(
3 kIR 1 & R, Q=1m?/h 18,500.00 18,500.00
T A
4 HER 1 & 300L/S, HLPRE 125,000.00 125,000.00
43 1Pa
V=0.5m?, i
Tl L -
5 s 1 & - =, m#m. ol 21,000.00 21,000.00
3 1H
K
B, Bk RE
FR N THE %
1 _ 1 & P=5Kw T4 30,000.00 30,000.00
A 1
oK Bk , PN E
2 1 = ) V=0.3m3 M 5,500.00 5,500.00
i iH
K PEER 77 I )
3 1 & ) Q=5 m3/h;H=35m | Ji%& 18,500.00 18,500.00
) K
I\, BEEHI RS
DCS #% N HT LT
1 ) 1 1= 5 100,000.00 100,000.00
il % |
2 MCC #a 1 fit
A )
3 e 1 #tt 75,000.00 75.000.00
I,
4 AT 1 fit
AL
5 |° ;s 1 ft
IE 7y 8
6 5 1 itk
AR
7 |7 1 it
15 FEAF %
8 e 1 #t 250,000.00 250,000.00
2 AL
9 o 1 & B g
T
Bt F M
10 o ‘+‘ 3 & B
VT
SER
11 ) 1 fit
i3]

wn




5 2 - =<¥iv i T fia: i} <R O S ()
5B
12 et 1 fit My R 2 FH
13 B E 1 Eit
14 [E % 1 jtt
15 EERL 1 it
16 e 2 M A 1 Jtt
17 FEZE] 1 fit
B R 155,000.00 155,000.00
18 X 1 it
23
19 e 1 fit
g
. Heeiite
1 Eb 1 fit
2 KRR 2 A
3 Slobie 1 fit
T
R AL
4 1 fit
B
L ¥ Y
5 = '“ " 1 dtt
I]
S
6 o 1 fit
e THA 300,000.00 300,000.00
BE Y
7 1 fit
u
SRR )&1 ﬁ/l
8 1 it e
A i R
ez ' el
9 1 it z ==
P 5> R
[rossn E: N
10 1 it \>
H ? V
11 il 1 it
it 2,077,000.00




(2) BA RS IR = N T

5
. i & L Xiv i A VRS [ LA <X T B (o)
2
—., HETBRAS(SHIERS)
2000
A E Gl TARR
fE:EIR~260°C; %
1 BT 1 & 1 HiE . #I | 125,000.00 125,000.00
; B PR |
3k, B,
RS Jup
ek i i
2 - 1 a AR e Hinigs T#E | 56,000.00 56,000.00
g e DRl BhtRE
3 1 o i [ R - KiE | 18,500.00 18,500.00
£ Z%: EXdIBT4:
L . .
4 o 1 =) s [ s Y Bl e, M 3,500.00 3,500.00
IS
g )
| wum 1 = i | sl @AWEE | #I1 | 35,000.00 35,000.00
¥
AL )
6 1038 1 a 1 Hi #J1 | 18,000.00 18,000.00
i
A HI e .
7 RS 1 a 0 HE 7 | 18,000.00 18,000.00
PET ¥} i
8 s 1 & 1 i V=0.2m3 I | 15,000.00 15,000.00
45 ,
9 i 1 = ‘ig:bg 85,000.00 85,000.00
I?//’
W thiE o R~ ALY
10 _ 1 =] H R @-mk h; P= 5@‘5 4 | 32,000.00 32,000.00
i
T RO RS R A
'%%iwr
W RS MPa
1 B - 1 a 1 Hi I #J1 | 150,000.00 150,000.00
ek 0.
KT 3m
2 | HEEE 1 =) 1 Hi AL 7/1: 10kg/h #J1 | 85,000.00 85,000.00
TTENL
QRN 1 a
4 F JEE e
25 47 8T -
bl 1 =] RS2 EXdIIBT4
=, AR H RS
G A A T .
1 . 1 a HMRE | Q=10kg/h; P=10MPa | 4 | 32,000.00 32,000.00
(AR it




. BFR Hr AT i T g [ LA <K S T I i G
2
TILEAL
A 2% 1 =
O FHJEE P
A5 R8T
L 1 a RS2 EXdIIBT4
2 | detagaT 1 & 85,000.00 85,000.00
VO, Yk K L3 R4
R F=fE: 10kgh, T
2 DI 1 = i S AE 2 PIbL, BikEssa = | 34,000.00 34,000.00
EXdIIBT4
ik 1 =) ULk INRE=S
B PIRAECE, BhilES
T 1 G
EXdIIBT4
DIEIHLACE, B
HRBN i 1 G
EXdIIBT4
3 | A kG 1 & 1 s . # | 12,000.00 12,000.00
200kg, BhkEEe
4 AT 1 & 9 8,500.00 8,500.00
EXdIIBT4
1,700,000.
5 | itk 1 = 00 1,700,000.00
T Sl R4
S
1 s 1 & M) VL4 | 65,000.00 65,000.00
Hp
e ‘
2 Kin 1 & %‘ﬁjﬂ'\‘l.%i):ﬁ/ M 8,500.00 8,500.00
ATH
i
SHINTE N mt
3 - 1 & *;ﬁ-lilwfx%_H )% | 18,500.00 18,500.00
it
N WG \ %=
HAE
1 %%( 1 & W\\IEE\ I | 45,000.00 45,000.00
R ‘
2 = 1 & M HE arak #% | 35,000.00 35,000.00
. HREIN,
3 Wi 8 1 & V=1me, . # 32,000.00 32,000.00
K
4 TP oA 1 a B.0%, Q=1m¥h 18,500.00 18,500.00
o BocHE 300L/S , ]
5 BT 1 =) 125,000.00 125,000.00
FREF<1PA
NERCSE | V=0.5m?, FEEE,
6 N 1 =] I HE _ #I | 24,000.00 24,000.00
i AT oK

8




N L FF Hr 2R () i T g e | B On) B G
B, UK RS
K #
1 N 1 & THZR A1) P=5Kw JT#5 | 30,000.00 30,000.00
B
oK BE
2 i 1 =) B s V=0.3m3 M 5,500.00 5,500.00
oK TG
3 /J!M 1 =) i B A Q=5 m3h;H=35m % | 18,500.00 18,500.00
il
I\, BRI RS
DCS # . . WL
1 1 = ik s 100,000.00 | 100,000.00
il F M
2 MCC 1 1 fit
A AR )
3 - 1 ftt 75,000.00 75,000.00
4 A S5 1 itk
LR 15 Ik
5 |° 1 it Fistx
ar
IE i1t
6 . 1 fit peatn
A
SHETA
7 |7 =, A
=R
SRR AR IR
s | 1 it
= R 250,000.00 250,000.00
9 i 1 A
it
T A
10 - 3 A
firit
KB
n |t ‘1 " 1 it
it
12 st 1 Eit
13 | A 1 fit
14 IRk 1 itk
15 L2 1 fit
16 | FLEEHFAL 1 fit
17 e 1 £t
o7 A b 155,000.00 155,000.00
18 _ 1 it
#
19 {3 Fi, %2 2% ) it
FAEL
. HE itk
1 REib 1 it 300,000.00 300,000.00

9




7

. EA =<K y3 i fit o Fei | HAR (On) SNV

2 PN A
HoAth s

3 jtt
J AT
R AL

4
EHEE R it

s [ e i
[]
(EE NG

6
BRIFE #
P

7 i
-)}15

. W [ A R #
WM
e

9 ) Eit
R R 1

10 B it
At

11 A fit
&it 3,818,000.00

e LSRN PR S PR L AT AR AR B A S AT FEAAIR, EAdL.

2. ERPTE “WM7 RS IR

i dh s ARSS, ST A LT (R

” qu‘)"]ﬂi{Jl—;\iy ﬁﬂﬁ?ﬂ{;fﬁ, Lj\ “%*ﬂ_‘—.ﬁﬁ” qjﬁqj[g;’ﬁ_.o
3. ATRHI AL 2 A R S s RSO B4 TR B 5 R

4. KMEHP REZER. W%, Kk

AR EMFIGURIR, AT ETFEBRE

PR R (

S




